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12

- Deposit both OMR Answer Sheet and Question Bookiet at the end of the Test.
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Research Entrance Test - 2014

No. of Questions : 60
ugat &t €@ : 60

Time : 1 Hour Full Marks @ 180
q99 : 1 g9 guifss : 180

Note: Each question carries 3 marks. One mark will be deducted for each

incorrect answer. _
gas U @ SiFH B T g9 Torg IO & W TF SF FT
srQar) | o

(1)

(2)

(3)

Each question is followed by FOUR alternative answers. Only
ONE of these answers is correct. Select the correct answer and
indicate it in the appropriate circle on OMR Answer Sheet
provided, by darkening the circle, using Ball Point Pen.

T U9 B WX Aehieqss IOX RF 1Y € ) gH § Had T I
Hﬁ%sﬂﬁmgﬁﬁwsﬁﬁﬁnﬁm%mﬁt&ﬂﬁﬁ
I @E 99 & AT FHh G0 B

Attempt all questions from 8. No. 1 to 40.

HH e 1 T 40 9% Gl usAl & HE B

Out of three sets of questions on la.nguages (41 to 50 Hindi, 51
to 60 Sanskrit and 61 to 70 English), attempt only two sets.

Thus, a candidate is required to answer in all 60 (Sixty) questions

only.

&= sttt 3 us (419 so0 e, SlﬁGOWWGIHTO
Sfef) § & fpedl & wrarelt B ued & &7 HA T §H THK

gt B H 60 UL & IX I © |

3 P.T.O.
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01. What would be the next number in the following series ?

441, 400, 361, 324 ?

fFrfefaa a9 & ol ser ot arf ?
¥, 289 (2) 302 (3) 296 (4) 308

02. /Select one of the four alternatives to put in the place of question
mark,

n‘wﬁe%m%mwfﬁwfr@wwmaaﬁﬁml
CLOTH : TEXTURE

BOOK : ?
7 TEXT - (2) PAGES
(3) LANGUAGE (4) AUTHOR

03. Court is to Justice as School is to ....... 7 S

(1} Teach _ '2) Education

(3) Principal | "~ {(4) Student
Wwﬁmﬂwﬁ%uﬁmaﬁﬁm .............. LB
(1} 9@ (2) farew

(3) gurTER (4) B

04. The total strength of a school 1360. For every 15 boys there 1s one
girl. The number of girls in the school is ?

wa@%maﬁr@wweo%lmlsmﬁwwam
TEh B ) B ol & HEwm samw 7 B
(1) 80 A2 85 . (3 90 | (4) 75
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05. Which number would come next in the blank space ?

e e § sF-d g s 7

19, 17, 38, 34, ?, 51
Y 57 (2) 58 (3) 59 (4) 60

06. If ‘URCPOMTE’ stands ‘COMPUTER’ how will you write ‘RESEARCH™?

It URCPOMTE’, ‘COMPUTER’ & M&f¥fer &<ar & af 99 ‘RESEARCH’

# g foeEw ?
(1) AHREECRS (2) AHREERCS
43) AHREESRC (4) AHREECSR

07. 1If ‘JOUFHQZSDC’ stands for INTEGRATED’ how will you write
‘MANAGEMENT’ ?
g JOUFHQZSDC’, INTEGRATED’ & Wafsfa @wer 2 @ &g
‘MANAGEMENT’ & &4 @ 7

(1) NBOBHFNFOU (2) NBOBHFNFUO
(3) NBOBHDLDMU ) NBOBHDLDMS

8. Telephone : Cable : : Wifi : ?

(1) Bluetooth (2) Infrared

(3) Flash Drive 4) Radio frequency
FAF : D AREE ¢ 7

(1) =& (2) FHES

(3) T R 4) ear Reae

5 P.T.O.
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~N\

Gm.
/.. s

Out of the following four, three are alike and one is different. Find
the odd one out.

Frafafea ar & @ & o | e ¥ v um orer 2 oy
T T IH =T w1 ™ |

(1) 94 (2) 67 (3) 85 @) 13

10.

11.

12,

If PALE is coded as 2134, EARTH is coded as 41590, how can PEARL

be coded in that language ?

ST T HE AT F PALE @Y 2134 UF EARTH @ 41590 Rram
SR & I g Sy F PEARL @l =1 fra@r s ?

(1) 24135 | 2] 24153

{3) 24351 (4) 24553

The students of the class are made to stand in rows. If four students
are extra in each row, there would be two rows less, If 4 students are
less in each row, there would be 4 rows more. The number of students
is:

HHT B B B Bt F @7 w2 | 3% 9% Heart ¥ 4w
Wﬁqmﬁé‘rmﬁmﬁmﬁﬁeﬂ?qﬁ4mmaﬁm
ﬁwwf&qmd’mzﬁaﬁaﬁswﬁ%nmmﬁaﬁﬁ@r%:

(1) 84 49 96 (3) 72 (4) 108

The angles of a triangle are in Arithmetic Progression (A.P.). If the
greatest angle is equal to the sum of other two angles, then the greatest
angle of the triangle is :

B BT FHERE Ao (AP) X ¥ 9R BT TEQ T HI,
%%%maﬁﬁ%%%w%,?fﬁgﬁmmaa

(1) 80° 2)  90° (3) 1000 (4) 1050



13.

14I

15.
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A Coin is tossed three times. The probability of getting at least two
heads is :

@WﬁﬁHWWW|w%wa%€mﬁaﬁmﬁw
2 |

(1) (4)

w2

@ 3 @)

oo | W

8

A cone of height 24 c¢m and radius of base is 6 cm is made up of
modelling clay. A child rehapes it in the form of a sphere. The radius

of the sphere is : _

(1) 9cm (2, 6cm (3) 8cm (4} 12 cm
@%mmﬁ24ﬁoﬁoﬁmwwaﬁm6ﬁoﬁo%,
g R o a1 B 1 Uk BT = 59 e weh Mar S
2, @ e & B R o

(1) 9¥®oHlo (2) 6¥HoHlo

(3) 8FoHlo 4) 12 PoHio

A train passes a pole in 15 seconds and a platform 100 m long in 25
second , then length of train is :

(1) 50m 2y 150 m

(3) 100 m 4) 300m

wF 9 T @ F 15 Q@ve § awn 100 Ho T SEHH @ 25
Yo ¥ gy FEA B, A1 A A T8 T

(1) 50%#o ' (2) 150#io

(3) 10040 (4) 300 #Hio

7 : P.T.O.
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16. The area of square-field is 225 m” then perimeter of the field is :
(1) 70 m (2) 80m 4 60 m (4] 120m

wmﬁsm—%awéamzzsaﬁ:ﬁﬁ%,eﬁw@awdﬁmq%:

(1) 700 (2) 80#Hio (3) 60 o (4) 120 #Hio

17. If the equation 4x2+[P+i]x+1=0 has exactly two equal roots then one

of the values of P is :

HHIETT 4x2+(P+1)x+1=0 & T T G E @ P oy T H19 Bl

(1) 5 2) -3 3) © LA4] 3

18. The average weight of 10 men is decreased by 3 kg when one of them
whose weight is 80 kg is replaced by new person. The weight of new

person is :
LAl 50 kg (2) 60 kg (3) 70 kg (4) 80 kg

wmﬁﬁ-&fwaﬁuamaﬁ'ﬁomoazm%uﬁmaﬁa&fﬁ

ﬁ%wﬁﬁﬁwmaoﬁsomo%waﬁgﬁaﬁmﬁﬁzﬁ
Wﬁammw%lﬁaﬁaﬁﬁwsm :

(1) 50fFomro (2) 60 fFoiro
(3) 70 FoTro (4) 80 Rhoirmo

19. The sum of the digits of two digit number is 8. The number obtained
by reversing the digits is 18 less than the original number. The original

number is :
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20. A man has Rs. 10,000 to invest. He invests Rs 4000 at 5% and

21.

23.

Rs. 3500 at 4%. In order to have a yearly income of Rs. 500, he must
invest the remainder at :

aeh AR 10,000 o ST HIAT ATt 8 | a8 4000 Fo 5% &7 i
TC qT @ 3500 To 4% AT it &L I T € | A I8 FH[A 47 9T
mﬁmwsaoaowa@m%ﬁ#%ﬂmﬁ%waﬁm:

(1) 6.1% (2) 6.2% (3) 6.3% @y 6.4%

Which country has won the Fifa World Cup in the matches played in
2014 ?

f Germany (2) - Argentina

3} Brazil (4) Netherlands
aﬁzomﬁgﬁgemaaﬁﬁq%csrﬁ'{aazﬁq%ﬁﬂ%atﬁaﬁm%?
(1) P s @ (2) TG

2y TSt (4) EX dsd

The period of Indus Valley Civilization ranges from :

¥ 2400-1700 B( (2) - 2500-2000 BC
3) 2000-1500 BC | (4) 1000-500 BC
Riy ot v @ fraR @ ety § |
(1) 2400-17008.9. (2) 2500-2000%.9.
(3) 2000-150C%.Y. (4) 1000-5003%.9.

Funk discovered :

{1) Proteins (. Vitamins

(3) Enzymes (4) Hormones

9 P.T.O.
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24,

28‘

®F A @ BT or -
(1) D& & (2) frefm @
(3) TAEH Hr (4) BRENY 1

Bahadur Shah was the :
(1) Last ruler of Lodis
(2) Successor of Sher Shah Suri

3] Last Mughal ruler
(4) Successor of Maratha ruler Shivaj_i

TEIGT ME q
(1) et <far 1 orfeem e
(2) AME GH F I

@) P T e

(4) mmﬁmﬁwmﬁwﬁ

A radar which detects the presence of an enemy aircraft u.ses :

(I}I Sound waves 42] Radio waves

(3) Electrid waves | (4) Ultrasound @raves |
Qasmwﬂmﬁrazm%ﬁmméﬁwwm%, SR Y
&

(1) efy adr '(2) FeAr vt

(3) fga atr (4) 9eERER R a3

10
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 26. The first Indian Satellite 'Aryabhatta’ was launched in :

27.

28

29.

(1) 1972 @, 1975 (3) 1977 @) 1979
goH | I9UE ‘STEWE’ & g@qer fhar & v

(1) 1972# 2) 1975% (3) 1977# (4) 1979 #®
Late Dr. M.S. Subbulakshmi distinguished herself in the field of :
Y] Vocal Music (2) Kathak

{3) Bharatnatyam (4) Playing Violin

@iy sto wi.oq. gegest 7 ool fafire wewH SR o :
(1) @z g & &= 4 (2) HUB B A H

(3) WRGHEIH & & | 4) aEfes s 5 & °
The cause of éhanging seasons on earth is :

(1) Distance of the earth from the sun
(2) Earth’s revolution around the sun
43) Tilt of the earth’s axis b

(4) Monsoons

gedt qx g ARads @ Her ¥

(1) g § g # T
(2) g @ gd & =R A THAT

(3) gt @ g 9T FEEA

(4) HEEA

Asteroid belt is located between ? , _ |
(1) Earth and Mars 2 Mars and Jupiter
(3) Jupiter and Saturn (4) Earth and Jupiter

11 . P.T.O.
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30.

310

32,

33.

fém%%ﬁamaaa@m%?

(1) 9= ud s (2)
(3) Fewfr og gfy (4)
VSAT is

(1) Communication satellite (2)
(3) Agricultural satellite )
die ? o -

(1) FgFasT sugs (2)
(3) FY Iy (4)
What does .edu (dot edu) means ?

(1) educated website (2)
13) educational website (4)
STE. SSIY 1 FT Tl 7

(1) USEes Agarse (2)
(3) UIHIT AqwrEe (4)
What is after gigabyte Storage ?

(1) Exabyte (2)
3) Terabyte (4)
Friemge ©Re & a @ & 2

(1) CerrErse (2)
(3) amzge (4)
Fiber Optic Cable is made of :

(1} Silver - (2)
(38) Aluminum )

12

AT o geefy
9T ud gewghy

Weather satellite
Very small aperture terminal

BREIE D
AT GeT auER e

educating website
commercial website

&7 AqaEE
m@fﬁmﬁaw.

Kilobyte |
Megabyte

Fhearee
AETsE

Copper .
Glass
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Ww&?ﬁaﬁﬁﬁmaﬂﬁﬁﬁ%?

(1) Rz (2) eHIAX

(3) umiEH (4) T

Which of the following memory has the shortest access time ?
(1) Chache memory (2) Virtual memory

3] Register (4) External memory

ﬁmﬁﬂ%ﬂﬁaﬁﬂ-ﬁﬁﬁ‘&mﬁaﬁqwﬁq—gﬂm%?
(1) @e A (2) axgeTs A
(3) =X | (4) TEETEE AH

Which of the following technology is used for read and write Compact
Disks ? '

(1) Magnetic | “2) Laser .
(3) Mechanical (4) Electrical

_Wﬁﬁmﬁﬁﬁmw%@amw%?

36.

(1) F_fRe® (2) @I
(3) Fnfvrpd (4) TEHIEHA

HTML stands for :

(1) Hyper Text Making Links

12) Hyper text Markup Language
(3) Higher Textual Marking of Links
(4) Hyper Text Mixer of Links

' 13 - P.T.O.
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37.

THoZlouH oo 1 Hewr -

(1) BEYY qe Afpr Ry

(2)  BIRUT oA Arany Sy

(3) *TET Vg AT ot Ry
(4) Wmmﬁﬂfﬁ%m

What is the name of an application Program that gathers user
information and sends it to some one through the Internet ?

(1)  Avirus | 21" Spybot

(3} Trojan Horse . (4) Worm ,
ﬁwﬁﬁﬁw—mmm;ﬁmmﬁ B FFTET HY goexye @
&7 g8 & FomEy R 7

(1) ¢ gy (2) wrEEe

(3) = B (4) ad

(1) Firewall (2} Proxy server
18) IP address (4) Domain name

nﬁmmwﬁwézﬁzm%ﬁ%%m&w@
fafars -

(1) P & (2) reRfr |xEe &
(3) oMot Ay & (4) M9 47 2

14
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For a hardware, MAC Address stands for :
4] Media Access Control Address
(2) Magnetic Access Code Address

(3) M_echanical Access Code Address
(4) Machine Access Code Address

o wEaaT @ fm, wR.od. E @ A ¥
(1) fifzar wEE woa Qgd
(2) FAfes EaE B RH
3) APrere @AY B A
(@) mser oA s AFE

Excel is a program that is used to prepare a-----=""" ;

(1) database (2) text document

(3) spreadsheet (4) slide presentation
et qo ST & e o L a1 B

(1) SrERd (2) EEE SIFHT

(3) BB (4) TES TN

15 P.T.O.
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Hindi Language

8=t sy
Q.No. 41 to 50
'41:)%%%3 T= T up g R e e .
© (1) g | %o e

3] 4) T
2. T # fgem R - |

(1) &g (2) Fjor

(3) 7o 4] 3rerpor
43 aga T T ‘g’ Bo-wr Rrdrgor 27

(1) J1 arees 2) qrETr AT 7

(3) =T Frag (4) GEfaE fdnyor
44 ‘Mmﬁmﬁ%’-mmﬂ ST gy B 7

(1) Frshyar 2] Brar faror

(3) |sr (4) H=Yy

48,

16
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48. BT AR ALE & 7

) & & frerd fRar ? (2) |t I e &

(3) #f A e & &9t (4) At & freE & el
47, BH-T1 A YH © 7

(1}erﬁﬁﬁanﬁfaﬁr@rra (2) g= ST W @A

mﬂﬁﬁ%m@ﬁ? (4) T8 I T

48, “FRA e F o T A e A
@ra@qﬁﬁ%ﬁrmﬁa@ﬁeﬁ’t"—

e e @ 8 7 |
(1) Bferfteer I (2) TErRer Braret
CRERERS . | W gEal AT e

49, “ﬁ’f%ﬁﬁmw"—wﬁﬁ%a@w%:—‘
(1)éjara:rarraanf (2) sTERl FXoT gt
2 e (4) gE "

-50.W®ﬁqﬁaﬁﬁﬁﬁﬂmaﬁaﬁrﬁa@m? ‘
1) SHiBY T o (2) PR '
(3) gREEA G (4) ey T =T

17 P.T.O.
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Sansikcrit Language
Tega sy

MH%WWWHWEE?

H) R (2) _EFI'P('IETH:
(3) TEIRTy: it
83 ﬁ‘*'ms % N TermE 2 |
. (2) FHAEARETY:
S ST @) =m:
58, IR 9Re affmRg
. il | (2) ArefRrpR
f3l G?fél?lﬁmﬁa T @) b3
I54 um
W - (2) Tadenf:
(3) quaﬂ: i :
5 HWE—EW td) sﬁ, .é Eﬁ ? |
) (2) E@Eﬁ%
i (4) ST

18
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6. ‘arenTE gsIH’ FRI A HeTey wWeq AT -

(1) o8 W T e T WA I
(3) OTE T TEE (4) Tt AT GEEd
57. q@arg -
...... e A R _
o fEmEE (2) qEEH
(3) TrTEH (4) T
g8, gaqy frsafeaE I siftrTaae: W 7
(1) AT | (2) R
@) s 4 T&
59, ‘FAEHATA FUd JEIHHE Hat & 7
) s (2)
@ wR (4) e
60. SEeTrEE A iy S A ?
(1) THERT (2) ErEd
3y oveTad (4 T

19 P.T.O.
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English Langua_
7 Ty
Q.No. 61 to 70

61. Directions :-Select the word which is nearest in meaning to the given

word ?

Valiant

(1) cowardly (2) timid
v£3) audacious (4) cringing

62. Choose the correct alternative that best completes the sentence

Sometimes we have to put............. with irksome or unpleasant
situations.
(1) on (2) in
(3) off ) up
63. Choose the appropriate word to fill in the blank space :
| S the news an hour ago.
(1) have heard (2} was hearing
(3) have been hearing 4) heard _

64. Choose the correctly spelled word - |
(1) atmosfere © (2) atgn_asph_cre
(3) atmesphere {4) atmosphere

Directions (Q.No.65-66) : Choose the correct alternative to complete the
following_sentences :

65. He is very fond of ................jokes,

(1) Boosting | (2} Throwing
3) Cracking (4) - Suggesting

20
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66. We.......oooeennen our work before the guests arrived at our house.
(1) shall finish (2) shall have finished
(3) have finished L44) had finished

67. Instructions:

68.

- 69.

Choose from the four alternatives the word that has nearly the same

meaning to the given word :

Convict

(1) " Brave 1/(2] Criminal
(3) Skilful (4) Awful
Instructions :

Choose the correct figure of speech from the four alternatives given

below :

Sweet Thames ! Run swiftly till 1 end my song.
(1) Simile : (2) Onomatopoeia

(3) Hyperbole _ t4) Apostrophe

Truth sits upon the lips of dying man.
(1) Metapher 2] Personification

(3) Simile (4) Oxymoron

21 P.T.O.
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rd that best completes the
Sentence :

T e e gy

(1) Eligible

(2) Ilegible
) llegible

(4) lligible

22 3,500
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G,

9.

1o,

12.
{1
14,

aivafaa & fag fdw
(3% GedsT & 599 STEvVT U8 g7 3av-uF & 3 got uv Saer A ar st
arer-wrgz 99 @ 8 ford)
T R e 10 e % aR T o R wvee oWl g A § st a a
BT AR B YR Y A T T GHR GO AR Fy-Friems @1 S wepd e
il ZH gt ara & |
r::ﬁaamarfﬁmmm-w%mﬁﬁmmmmaﬁﬁamwwﬁw
T | *
Y- UF SHETT 0 1591 7 81§97 @t Mg 9l 7 P a1 gy swe- v 787 Ay swrdm
WY IFFAG Y IA-GT FOFAG TIH AEW-9F W G Y i e g
em-wasnmwmhﬁmmﬁﬁﬁﬁawwfﬁ@'amﬁﬁf@qﬁaﬁw
&7 &1 TRl wiel anavas B ant wve- gfdEt st whie aun 92 w1 waw s et v
AWHo Ao T R STTRAG O, TAETH WO 9 G2 §@ (2 1 8w
TRAYRH T FTFRE Ho A omHodme W Fo o wfefiral # o 5 wuy @
&
:au@aaw&rfﬁﬁf#aﬁéﬁwﬁaﬁnwﬁﬁwmmﬁﬁﬂmmmm%@ﬁﬁa
U @ TAT HE ST |
59 5 GRTHT H 40 TS T 10 SYSTIG 997 &1 RF T T & ai defeus 3y
ﬁﬁwé:mm%mm%mmﬁm—waﬁwﬁw#%amw
T4 gV @} 3UT-0F F N Y8 GT 153 74 PR & aigwr 47 @ wmar s #1 G wi
I TP F] B HTA B F9 WV GeaaT & o 7 om) wrd @iy gy &7 v a5
%mqw%w%mmmﬁqﬂaﬁwwmﬁaﬁwqﬁﬁmﬂﬂﬁtg-&w
UF A W IO WA W gy IO TEd S @)
&a § 1 U@ WY Vgt gy Sifena IuY agen T o @A 1 A oy R 49T w7 39
T8 & WIEd 8, & w2 dfw & @l B R weit g @) @ g &1 08wt uy
Y= 3F f5d s
namﬁ%mm-m%q@gﬁ%afamwamm%gmésﬁmg@zmm
Fti
qiiel & UN 3 TH T IV-UF 79T AP GhAHT G wlar waT F o wv &
TR WA & 8 9Ee T v @ Al I w5 SFR A8 A
afe @i srendf when # swfed WA @ o e 2, A aw frvatEem g RsiE
S, dnft EmyEnt)
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3.

10.

11.

12.
13.
14.

srafort & fom fdwm

(¥9 §f3&T & F99 Ara0T g9 97 797 U-99 & o gt gv
Faer - Faw aTr-wrse 97 @ 8 frd) |
¥4 g fer & 10 e & sra & 3w o i e # woft g o # otk @
T T A &) Y SR U S T gHE Y dehre - Fries # 3aR qeqf
PRELE RSN ES ol i A
R WS § ey e yAw-uv & s, @ O Gy #E f gen w9 Wy
w7 7
-f;??fiwm#ﬁarmmwnhﬁaﬁwﬁﬁqmaﬁ g 39T OF 787 far wrdm
AT J0V-U¥ &7 §) qeAET Mrar S
T STISHHIR AT J-TF & ShAIR FOH IA-U8 W U 9 e wm w fad)
IUT-0% & XA Y3 G 47 § FGA JgewiEs Faiid W@y v ford aar A8 f7d gt w5
‘T &Y 2 W-wﬂmﬁaﬂMgﬁanmmﬁmmﬁzmmaﬁwm‘
v forgd ‘
Ho THo Ao TX W ATHAE WA, TR WEN § T wEwr (3T Y &) a9r
WWW Ft Ho guo Ao wx weA T WA ¥ uliviery w1 syaly
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